NUMBER FORMS

Stdnddrd
Form

write the digits 1,563

Math Tips and, Toicks

one thousand five

word

write the word for the

Form numbers hundred sixty-three
Stretching the number
EX dnded out to show the value | 1,000 + 500 + 60 + 3
orm of each digit
Draw a picture to | T i g
qus$ Ten represent the number j’ EEE%EE
icture using base ten blocks =r ooo

DL ACE VALUE NOIES

DIGIT: a symbol that shows a number (0, 1, 2, 3,4, 5, 6, 7, 8, 9)
VALUE: the numerical worth or amount of a digit.

PLACE: the location of a digit in a number

PLACE VALUE: the value of a digit depending on its place in a
number.

473,286

ones

hundred ten thousands hundreds tens

PLACE 2 thousands thousands

3,000 200 80 6

. R0UDING A

changing the value of a number to one that is
easier fo work with

KEY WORDS: about, approximately, estimate
NUMBER LINE

| | | | | | | | | |
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100 129 200
OVER/UNDER 30 600
68 23 54)8

60 Q0 OO

ROUNDING RHYME

S OR MORE,
RAISE THE SCORE
4 OR LESS,
LET IT REST!

VALUE > 400,000 70,000




ALL AsOUT M

ULTIPLICATION

MULTIPLICATION

# of groups x # of objects per group = fotal # of objects

3X9=2T

FACTOR FACTOR PRODUCT
REPEATED ADDITION ARRAY
e B Bo Bo BoBofo Bo o
+9+9 = o o o o Bo Fo Fo Ro
9+9+9=21 YOO
DRAW A PICIURE SKIP COUNT

918,27

PROPERTIES OF MULTIPLICATION

IR0 6%0=0
COMMUINIVE Sx UY=L x5
ASSOCIATIVE 2% (U % 3) =(2x 4) x 3
DISIRIBUTVE 9 X L = (2 x U) + (7 x L)

DIVISION

sharing or grouping a number info equal parts

4

DIVISOR  QUOTIENT

the answer fo a
division equation

ARRAY

o Bo Fo BoBo Bo Bo
 Bofo RoBoRoRo o
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DIVIDEND

REPEATED SUBTRACTION
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ALL ASOUT PROBLEM SOLVING

ADDITION SUBTRACTION - MULTIPLICATION ~ DIVISION

+ — X +
add(ed) to decreased by ared quotient
all fogether difference multiplied by divide
PROBLEM SOLVING STRATEGY || ==
combined how many more | by amount of each
in all left per divided by
UNDERSTAND who+ +he Pr°blem IS increase by less product of equal parts
qsklng qnd underllne Or» more than less than rate Spll'i' up
perimeter minus times break up
|mpor’rcn’r mfor‘mchon plus remaining triple per
sum take away twice out of
total each person each get(s)
PLAN Qnd +h|nk Qbou+ hOW 'I'O SOIVe each group each have/has
the problem. Which strategy will be il every
ofal
used 'I'O so|ve H’\e pr‘ob|em9

CHECK your answer with another
strategy and by rereading the

SOLVE the problem and SHOW YOUR
WORK.

ques’non



ALL ABOUT FRACIIONS

A FRACTIONS FRACTION SIRIPS
any part of a group, number or whole
WNERACR = v 3 - -
e e DENOMINATOR Z Z
number of parts the l l ]_
whole is divided into 3 3 3
@000 @ [ T T I
0000 4 4 4 4
] ]
e (|EIEIEEEEE
0 1 1 ‘ 1 ‘ 1| 1 ‘ 1 ‘ 1
6 6 6 6 6 6
LQUIVALENT FRACTIONS Al i e e
equal, same amount or value 8| 8| 8| 8| 8| 8 8| 8
M _ 2 || [m]o]]0]i]| 6] 66|
6 3 Afifafafifififafififif1
12112 1121121212 (12(12 [12(12|12]|12




ALL ABOUT MEASUREMENT

iy

10
The longer
The s.hor’rer 415 hand is the
has in the ] MINUTE
HOUR HAND. 20 HAND.

FINDING ELAPSED TIME

START STOP ELAPSED TIME
: : l Lhour | 1hour
356 400 5:00 520
| 2 hours | 2 hours
12:35 3:15 | 40 min
12:35 1:00 300 315

the number of square units needed
to cover the inside of a plane shape

AREA =L X W
2
)

8
2xY-= 3xb=

& square units |5 square units

the dis;rasr;]f]e;:round PERIMETER

L+L+W+W=Pp
2 5

Il square units

4 3

3+3+5+5=
6 units

U+U+2+ 2=
12 units




ALL ABOUT MEASUREMENT

the measure of how much
matter is in an object.

WEIGHT
grams (g)
Kilograms (kg)
1,000 g = | kg

DR gram

nnnnn

CAPACHY Ctrhz?;%:; fat someting

=

« | kilogram

VOLUME
milliliters (mL)
liters (L)

L =1,000 mL

50 milliliter ﬁlﬁer

Quarter Inch Three Quarters of an Inch

Half Inch Whole Inch
‘[ \ 4
| | | | I | | I | | | | | I | | I |
1/4 3/4 1/4 3/4 1/4 3/4 1/4 3/4 1/4 3/4 1/4 3/4
1/2 1/2 1/2 1/2 1/2 1/2
1 2 3 4 5 6
' | \ -
| I | [ I | | | | | | | | | | | I |
1/4 3/4 1/4 3/4 1/4 3/4 1/4 3/4 1/4 3/4 1/4 3/4
1/2 1/2 1/2 1/2 1/2 1/2
1 2 3 4 5 6
o 3.
The pencil is 37 inches
| I | : | I | | | | | | | | I | | I |
1/4 3/4 1/4 3/4 1/4 3/4 1/4 3/4 1/4 3/4 1/4 3/4
1/2 1/2 1/2 1/2 1/2 1/2
1 2 3 4 5 6
. | .
The comb is 2 = inches

2




ALL ASOUT GEOMEIRY
gl QUADRTLATERALS 4| ISEERREteal |

weop peantogem ke fl N ]

i\ /\ o sl AcUTE RIGHT OBTUSE

are equal Less than 40° Exactly 90° Greater than 40°
o o Tight angles four equal sides the amount that something
wo sets of parallel sides 2 sets of parallel sides )
opposite sides have equal length 2 acute angles can hold; the space it take up

2 obtuse angles

SiR: U TN ONESEOMINT  RAY

four right angles
two sets of parallel sides
four equal sides A

a closed, plane shape that has < > > %
three or more sides < >
3 y 5 6

IRINGLE  QUADRTLATERAL  PENTAGON  HExAGON  |IPERPENDICULAR  PARALLEL  INTERSECTING

T 8 9 10 lines that intersect at a lines that never touch lines that cross

HEPTAGON OGTAGON NONAGON DECAGON 70" angle




NUMBER LINE
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